BID FORM

(Nevada County Standard Form Bid Document)

BID TO THE COU	NTY OF NE	VADA	FOR: HIRSCHD	ALE RO	AD C	OVER TRU	CKEE RI	VER BRIDGE
REPLACEMENT	PROJECT	AND	HIRSCHDALE	ROAD	AT	HINTON	(UPRR)	OVERHEAD
REHABILITATIO							,	

Name of Bidder: Myers & Sons Construction LLC

The work to be done and referred to herein is in Nevada County, State of California, and shall be constructed in accordance with the Plans, Specifications (including the payment of not less than the wage rates set forth therein) and the Contract annexed hereto.

The work to be done is shown on project documents entitled: HIRSCHDALE ROAD OVER TRUCKEE RIVER BRIDGE
REPLACEMENT PROJECT AND HIRSCHDALE ROAD AT HINTON (UPRR) OVERHEAD REHABILITATION PROJECTS

The undersigned, as bidder, declares that the only persons or parties interested in this bid as principals are those named herein; that this bid is made without collusion with any other person, firm, or corporation, and in submitting this bid, the undersigned bidder agrees that he or she has carefully examined the location of the proposed work, the annexed proposed form of contract, and the plans therein referred to and all other documents listed or incorporated in the bidding documents and contract documents; and bidder proposes, and agrees if this bid is accepted, that bidder will contract with the County of Nevada in the form of the copy of the contract annexed hereto, to provide all necessary machinery, tools, apparatus, and other means of construction, and to do all the work and furnish all the materials specified in the contract, in the manner and time therein prescribed, and according to the requirements of County as therein set forth, and that bidder will take in full payment therefor the following:

HIRSCHDALE ROAD OVER TRUCKEE RIVER BRIDGE REPLACEMENT PROJECT FEDERAL NO. BRLO-5917 (092)

Item No.	Item Code	(F)	Item Description		Quantity	Unit Price	Total
1	070030		LEAD COMPLIANCE PLAN	LS	1	5,000.00	5,000.00
2	099999		CONSTRUCTION STAKING	LS	1	25,0000.00	25,000.00
3	100100		DEVELOP WATER SUPPLY	LS	1	50,000,00	50,000.00
4	120090		CONSTRUCTION AREA SIGNS	LS	1	20,000,00	20,000.00
5	120100		TRAFFIC CONTROL SYSTEM	LS	1	150,000.00	150,000.00
6	120120		TYPE III BARRICADE	EA	4	175.00	700.00
7	120149		TEMPORARY PAVEMENT MARKING (PAINT)	SQFT	31	20.00	620.00
8	120182		PORTABLE DELINEATOR	EA	50	75.00	3,750.00
9	129000		TEMPORARY RAILING (TYPE K)	LF	1000	50.00	50,000.00
10	130100		JOB SITE MANAGEMENT	LS	1	125,000,00	125,000.00
11	130200		PREPARE WATER POLLUTION CONTROL PROGRAM	LS	1	20,000.00	20,000.00
12	130310		RAIN EVENT ACTION PLAN	EA	30	500.00	15,000.00
13	130320		STORM WATER SAMPLING AND ANALYSIS DAY	EA	20	500.00	10,000.00
14	130330		STORM WATER ANNUAL REPORT	EA	2	2,000.00	4,000.00
15	130550		TEMPORARY HYDROSEED	SQY D	4810	1.00	4,810.00
16	130640		TEMPORARY FIBER ROLL	LF	720	7.00	5,040.00
17	130900		TEMPORARY CONCRETE WASHOUT	LS	1	10,000.00	10,000.00

Item No.	Item Code	(F)	Item Description	Unit of Meas ure	Quantity	Unit Price	Total
18	131103		WATER QUALITY SAMPLING AND ANALYSIS DAY	EA	30	1,500,00	45.000.00
19	131104		WATER QUALITY MONITORING REPORT	EA	12	500.00	6,000.00
20	131105		WATER QUALIITY ANNUAL REPORT	EA	3	2.000.00	6.000.00
21	131201		TEMPORARY CREEK DIVERSION SYSTEMS	LS	1	225,000.00	225.000.00
22	146007		INVASIVE SPECIES CONTROL	LS	1	20,000.00	20,000.00
23	146008A		BAT EXCLUSION	LS	1	50,000.00	50,000,00
24	160110		TEMPORARY HIGH-VISIBILITY FENCE	LF	562	15.00	8,430.00
25	160201		RESIDENT ENGINEERS OFFICE	LS	1	125,000.00	125,000.00
26	170103		CLEARING AND GRUBBING (LS)	LS	1	25,000,00	25.000.00
27	190101	F	ROADWAY EXCAVATION	CY	2186	125.00	273,250.00
28	192003	F	STRUCTURE EXCAVATION (BRIDGE)	CY	374	250.00	93,500.00
29	192008	F	STRUCTURE EXCAVATION (TYPE A)	CY	293	1 600 00	468,800.00
30	193001	F	STRUCTURE BACKFILL	CY	191	175.00	33,425.00
31	194001		DITCH EXCAVATION	CY	94	150.00	14,100.00
32	198010	F	IMPORTED BORROW	CY	1620	140.00	226,800.00
33	204008		PLANT (GROUP H)	EA	328	45.00	14.760.00
34	204020		PLANT (GROUP P)	EA	875	25.00	21.875.00
35	204031A		REPLANT 8' PINE TREE	EA	3	500.00	1,500.00
36	204035		PLANT (GROUP A)	EA	500	15.00	7,500.00
37	204099		PLANT ESTABLISHMENT WORK (5-YEAR)	LS	1	75.000.00	75,000.00
38	210252		BONDED FIBER MATRIX	SQFT	36785	0.10	3,678.50
39	210260		ROLLED EROSION CONTROL PRODUCT (JUTE MESH)	SQFT	49955	0.75	37,466.25
40	210350		FIBER ROLLS	LF	2010	7.00	14,070.00
41	210430		HYDROSEED	SQFT	66605	0.15	9,990.75
42	260203		CLASS 2 AGGREGATE BASE (CY)	CY	98	200.00	19,600.00
43	390132		HOT MIX ASPHALT (TYPE A), FIBER REINFORCED	TON	118	575.00	67,850.00
44	394077		PLACE HOT MIX ASPHALT DIKE (TYPE F)	LF	2	500.00	1,000.00
45	394090		PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)	SQY D	2	1,525.00	3,050.00
46	398200		COLD PLANE ASPHALT CONCRETE PAVEMENT	SQY D	97	150.00	14,550.00
47	480200A		TEMPORARY TRESTLE	LS	1	750,000.00	750,000,00
48	480200B		TRESTLE DECK REMOVAL AND REPLACEMENT	EA	2	10,000.00	20,000.00
49	495000		MICROPILE	EA	43	20,000.00	860,000.00
50	500010		PRESTRESSING CAST-IN-PLACE CONCRETE	LS	1	100.000.00	100,000.00
51	510000		SEAL COURSE CONCRETE	CY	51	450.00	22,950.00
52	510051	F	STRUCTURAL CONCRETE, BRIDGE FOOTING	CY	100		150,000.00
53	510053	F	STRUCTURAL CONCRETE, BRIDGE	CY	390	5,500.00	2,145,000.00
54	510054	F	STRUCTURAL CONCRETE, POLYMER FIBER	CY	211	3,000.00	633,000.00
55	512560A		PRECAST CONCRETE BAT HOUSE	EA	6	8.500.00	51,000,00
56	519092		JOINT SEAL ASSEMBLY (MR 2 1/2")	LF	52	800.00	41,600.00
57	520102	F	BAR REINFORCING STEEL (BRIDGE)	LB	50.014	2.75	137 538 50
58	520106	F	BAR REINFORCING STEEL (EPOXY COATED)	LB	70,183	3.25	228.094.75
59	600097		BRIDGE REMOVAL	LS	1	900,000,00	900,000,00
60	723050	F	ROCK SLOPE PROTECTION (1/4 T, Class V, METHOD B) (CY)	CY	380	250.00	95,000.00
61	723080	F	ROCK SLOPE PROTECTION (60 lb, Class II, METHOD B) (CY)	CY	21	300.00	6,300.00
62	729011		ROCK SLOPE PROTECTION FABRIC (CLASS 8)	SQY D	511	15.00	7,665.00
63	730020		MINOR CONCRETE (CURB) (CY)	CY	1	3,000.00	3,000.00
64	731521		MINOR CONCRETE (SIDEWALK)	CY	3	3.000.00	9.000.00
65	750501		MISCELLANEOUS METAL (BRIDGE)	LB	268	50.00	13,400.00
66	770001A		CONNECT TO EXISTING COMMUNICATION MANHOLE	EA	1	5,000.00	5,000.00
67	770002A		4" CONDUIT	LF	344	15.00	5,160.00
	. , 5502/1		1 00110011		J44	10.00	5,100.00

Item No.	Item Code	(F)	Item Description	Unit of Meas ure	Quantity	Unit Price	Total
68	770003A		ARMORCAST 3048 TELEPHONE HANDHOLE	EA	2	3.500.00	7.000.00
69	782200		OBLITERATE SURFACING	SQY	31		
70	801365A		PIPE BARRIER GATE	D EA	- 4	50.00	1,550.00
71	803155A	_	RESET FENCE	LF	454	4,500.00	4,500.00
72	820115	_	SNOW POLE MARKER		151	15.00	2,265.00
73	820750		FURNISH SINGLE SHEET ALUMINUM SIGN (0.63"-	EA	10 49	150.00	1,500.00
73	620750		UNFRAMED)	SQFT	49	25.00	1,225.00
74	820840		ROADSIDE SIGN - ONE POST		6	350.00	2,100.00
75	832006		MIDWEST GUARDRAIL SYSTEM (STEEL POST)	EA LF	44	150.00	6,600.00
76	833085A	F	PIPE HANDRAILING (TYPE 1)		131	400.00	52,400.00
77	833085B	F	PIPE HANDRAILING (TYPE 2)	LF LF	23	400.00	9,200.00
78	839543		TRANSITION RAILING (TYPE WB-31)	EA	3	6,750.00	20,250.00
79	839584		ALTERNATIVE IN-LINE TERMINAL SYSTEM	EA	2	6,000.00	12,000.00
80	839590A		ALTERNATIVE CRASH CUSHION	EA	1	54,650.00	54,650.00
81	839737A	F	CALIFORNIA ST-75 BRIDGE RAIL	LF	315	725.00	228,375.00
82	839737B	F	CALIFORNIA ST-75SW BRIDGE RAIL	LF	315	950.00	299,250.00
83	840656		PAVEMENT TRAFFIC STRIPE (2-COAT)		826	2.00	1,652.00
84	840666		PAINT PAVEMENT MARKING (2-COAT)		19	30.00	570.00
85	999990		MOBILIZATION	SQFT	1	1,000,000.000	1,000,000.0
							.299,910.75

See next page for continuation of Bid Items

HIRSCHDALE ROAD AT HINTON (UPRR) OVERHEAD REHABILITATION PROJECT FEDERAL NO. BRLO-5917 (097)

Item No.	Item Code	(F)	Item Description		Quantity	Unit Price	Total
1	070030	T	LEAD COMPLIANCE PLAN	LS	1	1.500.00	1 500 00
2	099999		CONSTRUCTION STAKING	LS	1	1,500.00	1,500.00
3	100100	_	DEVELOP WATER SUPPLY	LS	1	15,000.00	15,000.00
4	120090	1	CONSTRUCTION AREA SIGNS	LS	1	25,000.00	25,000.00
5	120100		TRAFFIC CONTROL SYSTEM	LS	1	10,000.00	10,000.00
6	120149		TEMPORARY PAVEMENT MARKING (PAINT)	SQFT	21	200,000.00	200,000.00
7	120182	-	PORTABLE DELINEATOR	EA	26	75.00	420.00 1,950.00
8	129000		TEMPORARY RAILING (TYPE K)	LF	500	85.00	42,500.00
9	130100		JOB SITE MANAGEMENT	LS	1	85,000.00	85,000.00
10	130200		PREPARE WATER POLLUTION CONTROL PROGRAM	LS	1	5,000.00	5,000.00
11	146007		INVASIVE SPECIES CONTROL	LS	1	20,000.00	20,000.00
12	146008A		BAT EXCLUSION	LS	1	55,000.00	55,000.00
13	146006		CONTRACTOR SUPPLIED BIOLOGIST (BAT EVICTION)	LS	1	80,000.00	80,000.00
14	160110		TEMPORARY HIGH-VISIBILITY FENCE	LF	1940	15.00	29,100.00
15	170103		CLEARING AND GRUBBING (LS)	LS	1	20,000.00	20,000,00
16	192003	F	STRUCTURE EXCAVATION (BRIDGE)	CY	23	750.00	17,250.00
17	193003	F	STRUCTURE BACKFILL (BRIDGE)	CY	11	300.00	3,300.00
18	210252		BONDED FIBER MATRIX	SQFT	27420	0.15	4,113.00
19	210260		ROLLED EROSION CONTROL PRODUCT (JUTE MESH)	SQFT	20565	0.75	15,423.75
20	210350		FIBER ROLLS	LF	1320	7.00	9,240.00
21	210430		HYDROSEED	SQFT	27420	0.15	4,113.00
22	260203		CLASS 2 AGGREGATE BASE (CY)	CY	10	1,400.00	14,000.00
23	390132		HOT MIX ASPHALT (TYPE A) FIBER REINFORCED	TON	6	4,200.00	25,200.00
24	394077		PLACE HOT MIX ASPHALT DIKE (TYPE F)	LF	19	500.00	9,500.00
25	394090		PLACE HOT MIX ASPHALT (MISCELLANEOUS AREA)	SQY D	2	1,525.00	3,050.00
26	398001		REMOVE ASPHALT CONCRETE PAVEMENT (SQFT)	SQFT	717	25.00	17,925.00
27	398200		COLD PLANE ASPHALT CONCRETE PAVEMENT	SQY D	49	270.00	13,230,00
28	510053	F	STRUCTURAL CONCRETE, BRIDGE	CY	53	12,000.00	636,000.00
29	510805		DIAPHRAGM BOLSTER	EA	8	24,000.00	192,000.00
30	511106		DRILL AND BOND DOWEL	LF	325	125.00	40,625.00
31	511111		DRILL AND BOND DOWEL (CHEMICAL ADHESIVE)	LF	50	150.00	7,500.00
32	519088	_	JOINT SEAL (MR 1")	LF	65	150.00	9,750.00
33	520102	F	BAR REINFORCING STEEL (BRIDGE)	LB	3,451	4.50	15,529.50
34	520110	F	BAR REINFORCING STEEL (EPOXY COATED) (BRIDGE)	LB	3,318	7.00	23,226.00
35	600003		INJECT CRACK (EPOXY)	LF	148	525.00	77,700.00
36	600013		REPAIR SPALLED SURFACE AREA	SQFT	67	450.00	30,150.00
37	600029		REMOVE ASPHALT CONCRETE SURFACING	SQFT	3,135	10.00	31,350.00
38	600037		PREPARE CONCRETE BRIDGE DECK SURFACE	SQFT	2,585	0.50	1,292.50
39	600041		FURNISH POLYESTER CONCRETE OVERLAY	CF	216	175.00	37,800.00
40	600043		PLACE POLYESTER CONCRETE OVERLAY	SQFT	2,585	15.00	38,775.00
41 42	600081		CORE CONCRETE (1 1/2")	LF	144	250.00	36,000.00
42	600065		CORE CONCRETE (3")	LF	18	500.00	9,000.00

Item No.	Item Code	(F)	Item Description	Unit of Meas ure	Quantity	Unit Price	Total
43	600114		BRIDGE REMOVAL (PORTION)	LS	1	400,000.00	400.000.00
44	600153A	F	COMPOSITE COLUMN CASING	SQFT	220	450.00	99.000.00
45	600154A	F	CARBON FIBER ANCHOR	EA	36	250.00	9,000.00
46	600166	F	MISCELLANEOUS METAL (RESTRAINER - CABLE TYPE 2)	LB	828	25.00	20,700.00
47	641107		18" PLASTIC PIPE	LF	173	145.00	25.085.00
48	705311		18" ALTERNATIVE FLARED END SECTION	EA	2	4,500.00	9,000.00
49	723080	F	ROCK SLOPE PROTECTION (60 lb, Class II, METHOD B) (CY)	CY	4	500.00	2,000.00
50	723095	F	ROCK SLOPE PROTECTION (20 lb, Class I, METHOD B) (CY)	CY	2	1,500,00	3,000,00
51	729011		ROCK SLOPE PROTECTION FABRIC (CLASS 8)	SQY	18	40.00	720.00
52	801365A		PIPE BARRIER GATE	EA	1	7.500.00	7.500.00
53	820130		OBJECT MARKER (TYPE P)	EA	4	75.00	300.00
54	820840		ROADSIDE SIGN - ONE POST	EA	6	400.00	2,400.00
55	839543		TRANSITION RAILING (TYPE WB-31)	EA	4	6.750.00	27,000.00
56	839584		ALTERNATIVE IN-LINE TERMINAL SYSTEM	EA	1	6.000.00	6.000.00
57	839585		ALTERNATIVE FLARED TERMINAL SYSTEM	EA	3	6.000.00	18.000.00
58	833035A	F	CHAIN LINK RAILING (TYPE 2)	LF	180	425.00	76.500.00
59	839737B	F	CALIFORNIA ST-75 BRIDGE RAIL	LF	346	800.00	276,800.00
60	833094	F	TUBULAR BICYCLE RAIL	LF	324	75.00	24,300.00
61	840666		PAINT PAVEMENT MARKING (2 - COAT)	SQFT	20	75.00	1,500.00
62	999990		MOBILIZATION	LS	1	300,000.00	300,000.00

TOTAL COMBINED BID (For Hirschdale Road Over Truckee River Bridge Replacement Project And Hirschdale Road At Hinton (UPRR) Overhead Rehabilitation Project) (in figures):

\$13.522.228.50

TOTAL COMBINED BID (For Hirschdale Road Over Truckee River Bridge Replacement Project And Hirschdale Road At Hinton (UPRR) Overhead Rehabilitation Project) (in words):

Thirteen Million, Five Hundred Twenty-Two Thousand, Two Hundred Twenty-Eight Dollars and Fifty Cents

Bidder shall bid each item. Failure to bid an item shall be just cause for considering the bid as non-responsive. County reserves the right to reject all bids

The undersigned bidder agrees to furnish the required bonds or other security and to enter into a contract within the time specified in the Instructions to Bidders, and further agrees to complete all work by the bid, in accordance with all requirements of the contract.

The undersigned, as bidder, declares that the only persons or parties interested in this bid as principals are those named herein; that this bid is made without collusion with any other person, firm, or corporation, and in submitting this bid, the undersigned bidder agrees that he or she has carefully examined the location of the proposed work, the annexed proposed form of contract, and the plans therein referred to and all other documents listed or incorporated in the bidding documents and contract documents; and bidder proposes, and agrees if this bid is accepted, that bidder will contract with the County of Nevada in the form of the copy of the contract annexed hereto, to provide all necessary machinery, tools, apparatus, and other means of construction, and to do all the work and furnish all the materials specified in the contract, in the manner and time therein prescribed, and according to the requirements of County as therein set forth, and that bidder will take in full payment therefore the following

Contract shall be awarded based upon the lowest responsive and responsible Bid, Total Combined Bid of both bridges.

Receipt of copies of the following addenda is hereby acknowledged.

Addendum No.	Bidder's Signature	Date Acknowledged
	-ammel	8/2/2024
2	mother	8 7/2024
	1.0	
· ·		-
		·

All addenda received have been considered in preparation of this bid.

Enclosed herewith are the Bid Form, Bid Bond or other security, Experience Statement, Subcontractor List and Bidder's Representations form and Public Contract Code form.

In submitting this bid it is understood that the right is reserved by County to reject any and all bids, and it is understood that this bid may not be withdrawn during the period set forth in the Instructions to Bidders.

Envelopes containing bids must be marked as required by the Instructions to Bidders.

County reserves the right to reject any and all bids and to waive any irregularities in bids.

The amount of the bid for comparison purposes will be the total of all items. The total of unit basis items will be determined by extension of the item price bid on the basis of the estimated quantity set forth for the item.

Prices bid shall include overhead, profit and all applicable taxes.

By submission of this bid, each bidder certified, and in the case of a joint bid each party thereto certifies as to its own organization, that this bid has been arrived at independently, without consultation, communication, or agreement as to any matter relating to this bid with any other bidder or with any competitor.

A bid bond will accompany this bid in a sum of not less than ten percent (10%) of the total amount of the bid and shall be on a form approved by County or a form which is substantially similar, which is attached thereto.

If this bid shall be accepted and the undersigned shall fail to contract as aforesaid, and to give the performance bond and payment bond as required in the contract with a surety satisfactory to County within the number of days set forth in the Instructions to Bidders after receipt of notice that the contract has been awarded to the undersigned, County may, at its option, determine that the bidder has abandoned the contract and thereupon the award of the contract shall be null and void and the bidder and surety shall forfeit the security accompanying this bid to the County of Nevada.

Accomp	panying this bid is:	
	Bidder's Bond	
	("Bidder's Bond", "Cash	ier's Check", "Certified Check" or "Cash")
for \$	10% of Total Bid Price	an amount equal to ten percent (10%) of the total bid.

**Note: ** The 10% declaration must be written and defined. Writing "see attached" will not be accepted and may deem your Bid non-responsive.

The names of individuals who are principals in any partnership, joint venture, business association or corporation in the foregoing bid are as follows:

Myers & Sons Construction LLC		Kurtis Frailey - Vice President
Clinton W. Myers - President		Troy J. Peake - CFO
Licensed in accordance with an a	act providing for the	registration of contractors, License No
Printed Name of Authorized Repr	esentative; Clinto	n W. Myers - President
Dated7/29/2024		mon
	75	Authorized Signature of Bidder
BUSINESS ADDRESS: 45 More	rison Avenue	
CITY, STATE & ZIP CODE: Sac	ramento, CA 95838	3
TELEPHONE NUMBER: (916)	283-9950	
EMAIL ADDRESS: _cwmyers@n	nyers-sons.com	
CLASSIFICATION OF CONTRAC	CTOR'S LICENSE:	A, B, C31, C-8, C34, C32, C12
EXPIRATION DATE OF CONTRA	ACTOR'S LICENSI	E: <u>12/31/2025</u>
DIR# 1000054678	FEDERAL TAX ID	No.: 82-3638304

NOTE: If bidder is a corporation, the legal name of the corporation shall be set forth above together with the signature of the officer or officers authorized to sign contracts on behalf of the corporation; if bidder is a co-partnership, the true name of the firm shall be set forth above together with the signature of the partner or partners authorized to sign contracts on behalf of the co-partnership; and if bidder is an individual, his or her signature shall be placed above. If a bidder is a joint venture, the documents must be signed by an authorized officer of each firm to the joint venture and shall include the California Contractor's License number of each partner to the joint venture. The signature of any attorney-infact must be notarized.